[ Efficiency vs vertpos |

[y
e B
+T H

H H

"

"

1

3

L

)

+

&

"

o

"

o

09':'

11111
TooUoog

= i A DR newgeom

Efficiend E %g fg—sl %%
~0.05 : :

T RS AN SRS S SRS S
0 : : : : :
>0.04 : e TR TRRELTEET PRRETEEE
> : : : :

$.035
‘©
£0.03
©
0.025
0.02
0.015
0.01
0.005
.0

............

............

............

Ratio

[y

0.95

935 20 30

N 0.
>
8.0.09F-
£
0,08
20.07F
oy
20.06F
o
(&}
£0.05F
(]
0.04F
0.03F
0.02F-
0.0

L

Ratio

1

o
©
al

o
©
TTTT

5 10 15 20
Sim. PV z (cm)

|
N

S

=

U-I ™

I —
e
)

|

(6)]

o




	Contents
	Page 1


